De formules zijn als geheugensteun bedoeld, er zijn geen vectoriéle notaties gegeven.
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Ny = 1,50 N = 1,49

plexi
2=9,81 ms™
9=-273,15°C < T=0K
R=8,31 Jmol' K™
k=8,99.10° Nm*C™
G=6,673.10" N m? kg?
Pwater = 1,00. 10> kg m™
po=1,01.10°Pa = 1,01 bar
Crvater = 4,19 . 10° Jkg' K™
Ivatersjs = 334 . 10° J kg™
Ho=47m.107 TmA™
Na=6,02.10% mol"!
me=9,11.107" kg
1u=1,66.10" kg
1eV=1,602.10"]

e=1,60.10"7C

n,... =133 c=299792458m.s"!

water

Pwik= 13,6 . 10> kg m™ Puche = 1,29 kg m™

Cijs = 2’09 : 103 Jkg_l K_l Cstoom — 2,01 . 103 Jkg_l K_l

Lwater-stoom = 2260 . 103 J kg_l

my=1,673 .10 kg my = 1,675 . 107 kg

h=6,626.10347.s

chcktron =-e onsitron =- chcktron Qmuon = chcktron Qfoton =0
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